THIS IS A C.AD. GENERATED DRAVING
DO NOT MAKE MANUAL REVISIONS TO MASTER.
BACKSHELL KIT INCLUDES:

(2) BACKSHELL HALVES

(2) 4-40 THUMBSCREWS

(2) HOUSING SCREWS

(1) SET OF COMPRESSION INSERTS - VARIOUS SIZES
DIAMETERS 4mm (.157"), 5mm (.167"), 7mm (.276"), 9mm(.354")

(1) COMPRESSION SPRING

o A ———————— Dia. 1

l——— ) ————— |

BACKSHELL MATERIAL: DIE-CAST ZINC ALLOY

* UNLESS OTHERWISE SPECIFIED TOLERANCES

ON DECIMAL IS: ANGLE

X X.
UNIT: MM XX

+5
+0.38
+0.25

DIMENSIONS(mm /in)
SIZE A 502 | B $582| C 592 | D 3
9 31.20 | 39.90| 15.00 | 24.99
1.228 | 1.571 | 0.591| 0.984
15 39.50 | 41.50| 15.00| 33.32
1555 | 1.634 | 0.591| 1.312
25 53.40 | 48.60| 15.00| 47.04
2.102 | 1913 | 0.591| 1.852
37 69.70 | 53.60| 15.00| 63.50
2.744 | 2.110] 0.591] 2.500

ORDERING INFORMATON:
MHDTZK-xx-yyy-K
1. 2.

Option:
1. xx = Shell Size
09 37 (up-to ~50 for RAPC)

2. yyy = Shell & Accessory

Leave Blank for standard Nickel plate finish (Dia. 1)

B = Black enamel finish

RAPC = Rapid grommet Assy, Plastic Cap thumbscrew

PLATING: NICKEL
JACKSCREWS: STEEL: Zn PLATED
M3 HOODSCREWS: STEEL: Zn PLATED
COMPRESSION INSERT:  ABS, UL RECOGNIZED - SRATVN SATE
COMPRESSION SPRING:  STEEL, NICKEL PLATED th t I oa
OPERATING TEMP: -40°C TO +120°C e VI a Johnny Chen 06-24-15
component e S
p DAMIEN 06—30-15
REV:
S THIS SERIES FULLY CONFORMS TO THE et = SCAL1E 4 SH1EETOF OF1 30
EUROPEAN UNION DIRECTIVES 2002/95/EC TOBY ' :
COMPLIANTl AND 2002/96/EC FOR RoHS COMPLIANCY. O/ DRAWING No
THE VITAL COMPONENT MHDTZK SERIES




THIS IS A C.AD. GENERATED DRAWING
DO NOT MAKE MANUAL REVISIONS TO MASTER.
BACKSHELL KIT INCLUDES:

(2) BACKSHELL HALVES

(2) 4-40 THUMBSCREWS

(2) HOUSING SCREWS

(1) SET OF COMPRESSION INSERTS - VARIOUS SIZES
DIAMETERS 4mm (.157"), 5mm (.197"), 7mm (.276"), 9mm (.354")

(1) COMPRESSION SPRING

———— ) ————— |

DIE-CAST ZINC ALLOY
CLEAR CHROMATE FOLLOWED BY BLACK ENAMEL
STEEL - BLACK OXIDE FINISH
STEEL - BLACK OXIDE FINISH
ABS UL RECOGNIZED
COMPRESSION SPRING: STEEL, NICKEL PLATED

BACKSHELL MATERIAL:
PLATING:
JACKSCREWS:

M3 HOODSCREWS:
COMPRESSION INSERT:

OPERATING TEMP: -40°C TO +120°C

* UNLESS OTHERWISE SPECIFIED TOLERANCES
ON DECIMAL IS: ANGLE 5

. X.  %0.38
UNIT: MM XX %0.25

DIMENSIONS(mm /in)

+.50 +50 +50 +.25
SIZE A 002 | B $002| C %002 | D %0.01

31.20 | 39.90| 15.00| 24.99

1.228 | 1.571 | 0.591| 0.984

39.50 | 41.50| 15.00 | 33.32

15

1.555 | 1.634 | 0.591[ 1.312

o5 53.40 | 48.60| 15.00| 47.04

2102 | 1,913 | 0.591| 1.852

69.70 | 53.60| 15.00| 63.50

37
2.744 | 2.110] 0.591| 2.50

0

ORDERING INFORMATON:

MHDTZK-xx-yyy-K
1. 2.
Option:
1. xx = Shell Size
09 37 (up-to ~50 for RAPC)

2. yyy = Shell & Accessory
Leave Blank for standard Nickel plate finish
B = Black enamel finish (Dia. 2)
RAPC = Rapid grommet Assy, Plastic Cap thumbscrew

DRAWN DATE
Johnny Chen

the vital

07-21-15

component "rua  Mo-as

S THIS SERIES FULLY CONFORMS TO THE
EUROPEAN UNION DIRECTIVES 2002/95/EC

COMPLIANT] AND 2002/96/EC FOR RoHS COMPLIANCY.

b & o N
TOBY

4

THE VITAL COMPONENT

MHDTZK—- SERIES

SCALE SHEET OF REV:
1:1 1 OF 1 4.0
DRAWING No




THIS IS A C.A.D. GENERATED DRAWING
DO NOT MAKE MANUAL REVISIONS TO MASTER.

BACKSHELL KIT INCLUDES:
(2)BACKSHELL HALVES
(2)4—40 THUMBSCREWS
(2)HOUSING SCREWS
(1)SET OF COMPRESSION INSERTS—VARIOUS SIZES FOR 9-37

DIAMETERS 4mm(.157"), 5mm(.167"), 7mm(.276"), 9mm(.354")

(1)SET OF COMPRESSION INSERTS—VARIOUS SIZES FOR 50

DIAMETERS 11mm(.433”), 12.5mm(.492"), 14mm(.551"), 15mm(.591")

BACKSHELL MATERIAL: DIE—-CAST ZINC ALLOY
PLATING: NICKEL

JACKSCREWS: STEEL:ZN PLATED WITH PLASTIC KNOB
M3 HOODSCREWS: STEEL:ZN PLATED

COMPRESSION INSERT: ABS,UL RECOGNIZED

OPERATING TEMP: —40°C TO+120°C

* UNLESS OTHERWISE SPECIFIED TOLERANCES
ON DECIMAL IS: ANGLE % 1°
UNIT: MM XX £ 0.35

DIMENSIONS(mm/in)

SIZE A £68; | B 65, | C 582 | D I3
9 31.20 | 39.90| 15.00| 24.99

1.228 | 1.571 | 0.591] 0.984
3950 | 4150 15.00| 33.32

15 1555 | 1.634 | 0.591] 1.312
05 53.40 | 48.60| 15.00| 47.04
2102 | 1.913| 0.591| 1.852
5 69.70 | 53.60| 15.00| 63.50
2.744 | 2.110] 0.591] 2.500
o 67.50 | 54.00| 18.70| 61.00

2.657 | 2.126| 0.736| 2.402

ORDERING INFORMATON:

MHDTZK-xx-yyy-K
1. 2.
Option:
1. xx =Shell Size
09 37 (up-to ~50 for RAPC)

2. yyy = Shell & Accessory
Leave Blank for standard Nickel plate finish
B = Black enamel finish
RAPC = Rapid grommet Assy, Plastic Cap thumbscrew (Dia. 3)

DRAWN DATE

the Vital Johnny 06-24-15

component e

S THIS SERIES FULLY CONFORMS TO THE
EUROPEAN UNION DIRECTIVES 2002/95/EC

COMPLIANT] AND 2002/96/EC FOR RoHS COMPLIANCY.

A <>
TORBY
=V

4

THE VITAL COMPONENT

SCALE SHEET OF REV:
ul 1 OF 1 6.0
DRAWING No

MHDTZK-RA-PC




	MHDTZK 1
	MHDTZK 2
	MHDTZK 3

